
 
 

Решение только для файла А (переборное): 
f=open('27A.txt') 

n=int(f.readline()) 

k=int(f.readline()) 

max_sum=0 

mas=[] 

for c in f.readlines(): 

    mas.append(int(c)) 

for i in range(n-k): 

    for j in range(i+k,n): 

        max_sum=max(max_sum,mas[i]+mas[j]) 

print(max_sum) 

 

Решение для файлов А, В (рациональное): 

1 способ (от Сергея В.) 
f=open('27B.txt') 

n=f.readline() 

k=int(f.readline()) 

a=[] 

for i in f.readlines(): 

    a.append(int(i)) 

max_1=max(a) 

i_max_1=a.index(max_1) 

max_2=max(a[:i_max_1-k]+a[i_max_1+k:]) 

print(max_1+max_2) 

 

 

2 способ 
f=open('27B.txt') 

n=int(f.readline()) 

k=int(f.readline()) 

mas=[] 

max_sum=0 

max_left=0 

for i in range(n): 

    mas.append(int(f.readline())) 

for i in range(k,n): 

    max_left=max(max_left,mas[i-k]) 

    max_sum=max(max_sum,max_left+mas[i]) 

print(max_sum) 

 


